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√
x)− 1
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F (x) = 0

F (0) = 2Φ(0)− 1 Φ(0) =
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∀t ∈ R, Φ�(t) =
1√
2π

− t2

2

Y f

∀x ∈ R, f(x) =

⎧⎨
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F (X) ]0, 1[

∀x ∈ R−, P (F (X) � x) = 0 ∀x ∈ [1,+∞[ , P (F (X) � x) = 1

F R ]0, 1[
F−1 ]0, 1[ R

∀x ∈ ]0, 1[ , [F (X) � x] = [X � F−1(x)]

∀x ∈ ]0, 1[ , P (F (X) � x) = P (X � F−1(x))

F X

∀x ∈ ]0, 1[ , P (F (X) � x) = F (F−1(x)) = x

F (X) ]0, 1[

X X(Ω) = R+ Y (Ω) = N

n ∈ N

[Y = n] = [�X� = n] = [n � X < n+ 1]

X

P (Y = n) = P (X � n+ 1)− P (X � n)

X 1

P (Y = n) =
[
1− −(n+1)

]
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1− −n)

]

= −n − −n−1
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X f X
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X X2
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∫ +∞

−∞
t2f(t) t

E(X2) =
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t2f(t) t

X1, . . . , Xn

X = X1+ · · ·+Xn X
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f X
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t �→ t2f(t)
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∫ y

0
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� +∞
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� y

0
t2f(t) t

X� +∞
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−∞ +∞
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a k f R
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⎧⎪⎨
⎪⎩

k ak
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x � a

0 x < a

f X
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k X

k X
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X
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x �→ xf(x)
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⎧⎪⎨
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k 2 X2

k > 2 X
X k > 2

X k 2 X
f ]−∞, a[

E(X) =

� +∞

a

k ak

xk
x =

y→+∞

� y

a
k ak x−k x

200 Compléments de probabilité

9782340-035300_001_296.indd   200 19/09/2019   11:22


